

Page 1 of 15

Contract ID: 23152 Counties: MONMOUTH

Letting Date: October 24, 2023 District(s): C1

Call Order: 152 **Project(s):** 0071(309)

Contract Time: 08/19/24 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHAL SYSTEM					
Alt Set /	Alt Set / Alt Member Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001		ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0001	151006M	1.000	24,500.00000	24,500.00				
PERFORM PAYMENT	MANCE BOND AND BOND	DOLL						
0003	153003P	(1)	38,000.00000	38,000.00				
PROGRES	SS SCHEDULE	LS						
0004	153005M	4.000	8,000.00000	32,000.00				
PROGRES	SS SCHEDULE UPD	ATE U						
0005	154003P	(1)	550,000.00000	550,000.00				
MOBILIZA	TION	LS						
8000	157004M	1.000	38,000.00000	38,000.00				
CONSTRU	JCTION LAYOUT	DOLL						
0011	159003M	50.000	1.00000	50.00				
BREAKAV	VAY BARRICADE	U						



Page 2 of 15

Contract ID: 23152 Counties: MONMOUTH

Letting Date: October 24, 2023 District(s): C1

Call Order: 152 **Project(s):** 0071(309)

Contract Time: 08/19/24 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHAL SYSTEM					
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY		ROADWAY		Cat Alt Set: Cat Alt Member:				
0012	159006M	477.000	1.00000	477.00				
DRUM		U						
0013	159009M	477.000	35.00000	16,695.00				
TRAFFIC	CONE	U						
0014	159012M	999.000	32.50000	32,467.50				
CONSTR	UCTION SIGNS	SF						
0015	159015M	2.000	2,500.00000	5,000.00				
CONSTR SIGN, 4'	UCTION IDENTIFICA X 8'	TION U						
0016	159027M	4.000	10,000.00000	40,000.00				
ARROW	BOARD, 4' X 8'	U						



Page 3 of 15

Contract ID: 23152 Counties: MONMOUTH

Letting Date: October 24, 2023 District(s): C1

Call Order: 152 **Project(s):** 0071(309)

Contract Time: 08/19/24 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHAL SYSTEM					
Alt Set / Alt Member Quantit		uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 RC		ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0017	159030M	2.000	23,000.00000	46,000.00				
PORTABI SIGN	LE VARIABLE MESSAC	GE U						
0018	159108M	4.000	10,000.00000	40,000.00				
_	CONTROL TRUCK WI D CRASH CUSHION	TH U						
0019	159138M	40.000	1,500.00000	60,000.00				
HMA PAT	СН	Т						
0020	159141M	3,000.000	180.00000	540,000.00				
TRAFFIC	DIRECTOR, FLAGGER	R HOUR						
0021	159260M	2.000	2,500.00000	5,000.00				
CONSTRU	UCTION IDENTIFICATI A 6' X 4'	ON U						



Page 4 of 15

Contract ID: 23152 Counties: MONMOUTH

Letting Date: October 24, 2023 District(s): C1

Call Order: 152 **Project(s):** 0071(309)

Contract Time: 08/19/24 COMPLETION DATE Min: Max:

Line No / Item ID Item Description			(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set / Alt	Member Q	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	ROADWAY		Cat Alt Set:		Cat A	It Member:	
0022 159	9300M	279,507.000	0.50000	139,753.50				
TRAFFIC STR	RIPES, LATEX, 4"	LF						
0023 159	9302M	7,029.000	0.56000	3,936.24				
TRAFFIC STR	RIPES, LATEX, 8"	LF						
0024 159	9312M	13,959.000	0.63000	8,794.17				
TRAFFIC MAR LATEX, 8"	RKINGS LINES,	LF						
0025 159	9314M	4,934.000	1.25000	6,167.50				
TRAFFIC MAR LATEX, 24"	RKINGS LINES,	LF						
0026 159	9320M	7,040.000	0.69000	4,857.60				
TRAFFIC MAR LATEX	RKINGS SYMBOLS	S, SF						



Page 5 of 15

Contract ID: 23152 Counties: MONMOUTH

Letting Date: October 24, 2023 District(s): C1

Call Order: 152 **Project(s):** 0071(309)

Contract Time: 08/19/24 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) ASPHAL SYSTEM					
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY		ROADWAY		Cat Alt Set: C		Cat A	It Member:	
0027	160004M	1.000	100.00000	100.00				
FUEL PR	RICE ADJUSTMENT	DOLL						
0028	160007M	1.000	100.00000	100.00				
ASPHAL	T PRICE ADJUSTME	NT DOLL						
0029	161003P	(1)	53,000.00000	53,000.00				
FINAL CI	LEANUP	LS						
0030	201003P	(1)	40,000.00000	40,000.00				
CLEARIN	NG SITE	LS						
0031	302051P	60.000	500.00000	30,000.00				
_	GRADED AGGREGA DURSE, VARIABLE ESS	TE CY						



Page 6 of 15

Contract ID: 23152 Counties: MONMOUTH

Letting Date: October 24, 2023 District(s): C1

Call Order: 152 **Project(s):** 0071(309)

Contract Time: 08/19/24 COMPLETION DATE Min: Max:

	lo / Item ID escription		(1) ASPHAL SYSTEM					
Alt Se	Alt Set / Alt Member Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY		ROADWAY		Cat Alt Set: Cat			It Member:	
0032	401017P	25.000	500.00000	12,500.00				
MICRO-MILLING SY								
0033	401021M	549.000	300.00000	164,700.00				
HOT MIX REPAIR	(ASPHALT PAVEMEN	T SY						
0034	401024M	1,500.000	8.00000	12,000.00				
	G OF CRACKS IN HOT T SURFACE COURSE							
0035	401030M	11.000	30.00000	330.00				
TACK COAT GAL		GAL						
0036	401113M	150.000	200.00000	30,000.00				
HMA LOI REPAIR	NGITUDINAL JOINT	SY						



Page 7 of 15

Contract ID: 23152 Counties: MONMOUTH

Letting Date: October 24, 2023 District(s): C1

Call Order: 152 **Project(s):** 0071(309)

Contract Time: 08/19/24 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHAL SYSTEM		,			
Alt Set / A	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001		ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0037 4	121007M	14,253.000	4.98000	70,979.94				
MICROPAV	ING JOINTS	LF						
0038 4	124110M	170,037.000	7.17000	1,219,165.29				
CHIP SEAL	PG88-22FR	SY						
0039 4	153006M	100.000	300.00000	30,000.00				
_	H CONCRETE REPAIR, HMA	SY						
0040 6	602099M	15.000	2,929.80000	43,947.00				
RESET EXIS	STING CASTING	U						
0041 6	602105M	15.000	2,929.80000	43,947.00				
SET INLET	TYPE B, CASTING	S U						
0042 6	602114M	15.000	2,304.80000	34,572.00				
SET MANHO	OLE CASTING	U						



Page 8 of 15

Contract ID: 23152 Counties: MONMOUTH

Letting Date: October 24, 2023 District(s): C1

Call Order: 152 **Project(s):** 0071(309)

Contract Time: 08/19/24 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHAL SYSTEM					
Alt Set / Alt Member Quantity and		Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0043	602123M	15.000	6,054.80000	90,822.00				
	STRUCTED INLET, T EXISTING CASTING	YPE B, U						
0044	602153M	15.000	7,304.80000	109,572.00				
	STRUCTED INLET, T IEW CASTING	YPE B, U						
0045	602210M	15.000	2,679.80000	40,197.00				
BICYCLE	SAFE GRATE	U						
0046	602216M	50.000	2,304.80000	115,240.00				
CLEANIN STRUCT	NG DRAINAGE TURE	U						
0047	607018P	1,270.000	533.84000	677,976.80				
9" X 16" CURB	CONCRETE VERTIC	AL LF						



Page 9 of 15

Contract ID: 23152 Counties: MONMOUTH

Letting Date: October 24, 2023 District(s): C1

Call Order: 152 **Project(s):** 0071(309)

Contract Time: 08/19/24 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHAL SYSTEM					
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	ON: 0001	ROADWAY		Cat Alt	: Set:	Cat A	It Member:	
0048	610003M	93,169.000	0.84000	78,261.96				
TRAFFIC	C STRIPES, 4"	LF						
0049	610007M	1,793.000	1.78000	3,191.54				
TRAFFIC	C STRIPES, 8"	LF						
0050	610012M	245.000	55.00000	13,475.00				
RPM, MO	ONO-DIRECTIONAL,	WHITE U						
0051	610014M	13,959.000	3.00000	41,877.00				
TRAFFIC	C MARKING LINES, 8	' LF						
0052	610017M	4,934.000	8.50000	41,939.00				
TRAFFIC	MARKING LINES, 24	4" LF						



Page 10 of 15

Contract ID: 23152 Counties: MONMOUTH

Letting Date: October 24, 2023 District(s): C1

Call Order: 152 **Project(s):** 0071(309)

Contract Time: 08/19/24 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description			(1) ASPHALT PAVING SYSTEMS, INC.				
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0053	610018M	324.000	55.00000	17,820.00				
RPM, MC AMBER L	NO-DIRECTIONAL, ENS	U						
0054	610021M	416.000	55.00000	22,880.00				
RPM, BI- LENS	DIRECTIONAL, AMBI	≣R U						
0055	610024M	984.000	80.00000	78,720.00				
REMOVA	L OF RPM	U						
0056	610033M	23,207.000	0.95000	22,046.65				
RUMBLE	STRIP	LF						
0057	610036M	94,962.000	0.95000	90,213.90				
REMOVA	L OF TRAFFIC STRII	PES LF						



Page 11 of 15

Contract ID: 23152 Counties: MONMOUTH

Letting Date: October 24, 2023 District(s): C1

Call Order: 152 **Project(s):** 0071(309)

Contract Time: 08/19/24 COMPLETION DATE Min: Max:

Contract Description: ROUTE 71, CEDAR AVENUE TO ROUTE 35 (NEPTUNE BLVD.)

	o / Item ID escription		(1) ASPHAL SYSTEM					
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	ROADWAY		Cat Alt Set:		Cat A	It Member:	
0058	610038M	14,253.000	6.00000	85,518.00				
REMOVA	L OF RUMBLE STRI	P LF						
0059	610039M	26,213.000	6.81000	178,510.53				
REMOVA	L OF TRAFFIC MAR	KINGS SF						
0060	610060M	7,040.000	11.19000	78,777.60				
TRAFFIC	MARKINGS SYMBO	LS SF						
0061	651255M	25.000	1,593.84000	39,846.00				
RESET V	VATER VALVE BOX	U						
0062	652432M	15.000	2,448.07000	36,721.05				
	IANHOLE, SANITAR` USING EXISTING }	Y U						

Section Totals: \$5,280,645.77



Page 12 of 15

Contract ID: 23152 Counties: MONMOUTH

Letting Date: October 24, 2023 District(s): C1

Call Order: 152 **Project(s):** 0071(309)

Contract Time: 08/19/24 COMPLETION DATE Min: Max:

Contract Description: ROUTE 71, CEDAR AVENUE TO ROUTE 35 (NEPTUNE BLVD.)

<u> </u>	, -	.,.,_,,	(
Line No / Item ID Item Description		(1) ASPHALT SYSTEMS					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002	CONSTRUCTION	ON ENGINEERING	G Cat Alt	Set:	Cat A	It Member:	
0006 155009M	1.000	48,000.00000	48,000.00				
FIELD OFFICE TYPE C SET U	JP U						
0007 155027M	11.000	9,000.00000	99,000.00				
FIELD OFFICE TYPE C MAINTENANCE	МО						

Section Totals: \$147,000.00



Page 13 of 15

Contract ID: 23152 Counties: MONMOUTH

Letting Date: October 24, 2023 District(s): C1

Call Order: 152 **Project(s):** 0071(309)

Contract Time: 08/19/24 COMPLETION DATE Min: Max:

Contract Description: ROUTE 71, CEDAR AVENUE TO ROUTE 35 (NEPTUNE BLVD.)

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.						
	Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

SECTION: 0003 (NON-PARTICIPATING (ROADWAY Cat Alt Set: Cat Alt Member:

 0002
 152015P
 1.000
 20,000.00000
 20,000.00

 POLLUTION LIABILITY INSURANCE
 DOLL

Section Totals: \$20,000.00



Page 14 of 15

Contract ID: 23152 Counties: MONMOUTH

Letting Date: October 24, 2023 District(s): C1

Call Order: 152 **Project(s):** 0071(309)

Contract Time: 08/19/24 COMPLETION DATE Min: Max:

Contract Description: ROUTE 71, CEDAR AVENUE TO ROUTE 35 (NEPTUNE BLVD.)

Total Booking in the State of t							
Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0004	EROSION CON	NTROL	Cat Alt	Set:	Cat A	It Member:	
0009 158063P	(1)	9,375.00000	9,375.00				
CONCRETE WASHOUT SY	STEM LS						
0010 158072M	1.000	2,500.00000	2,500.00				
OIL ONLY EMERGENCY SE TYPE 1	PILL KIT, U						

Section Totals: \$11,875.00



Page 15 of 15

Contract ID: 23152 Counties: MONMOUTH

Letting Date: October 24, 2023 District(s): C1

Call Order: 152 **Project(s):** 0071(309)

Contract Time: 08/19/24 COMPLETION DATE Min: Max:

Contract Description: ROUTE 71, CEDAR AVENUE TO ROUTE 35 (NEPTUNE BLVD.)

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.		,			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0005	GENERAL LAN	IDSCAPE	Cat Alt	Set:	Cat A	It Member:	
0063 805003M	910.000	74.45000	67,749.50				

Section Totals: \$67,749.50

		
Contract Totals	\$5,527,270.27	
Cost Plus Time Totals	\$5,527,270.27	

() indicates item is bid as Lump Sum

TURF REPAIR STRIP



Vendor Ranking Page:

Call Order: 152 Contract ID: 23152 Counties: MONMOUTH

Letting Date: October 24, 2023 10:00 AM District(s): C1

Contract Time: 08/19/24 COMPLETION DATE

Contract Description: ROUTE 71, CEDAR AVENUE TO ROUTE 35 (NEPTUNE BLVD.) Project(s): 0071(309)

Rank	Vendor Name	Total Bid	Percent Of Low Bid
1	ASPHALT PAVING SYSTEMS, INC.	\$5,527,270.27	100.00%

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.